Homework 11

Section 3.4:

8. F(z) = (4 - 22 = F'(z) = 100(dz — 22)®° - %(m ~ 2%) = 100(dz — 22)%°(4 — 23)

[or 2002 (z — 2)(z — 4)°]

18. g9(z) = (2 + 1)}(x? +2)° =
9'(@)=(z*+1)* - 6(z*+2)°- 22+ (2® 4+ 2)° - 3(z® + 1)® - 2z
=6z(z” +1)*(z® + 2)°[2(z® + 1) + (2 + 2)] = 62(2? + 1)*(2® + 2)°(32> +4)

24. Using Formula 5 and the Chain Rule, y = 101~ = 4/ = 1=+’ (Iln10) - % (1 - 2%) = —2z(In 10)10* =",

et —e™
28. y = prrarupm =
, (eu +e-—u)(eu _ (_e—u)) . (eu _ e—u)(eu + (_e—u)) _ ezu +eO + 60 + e—2u - (62" - eO — eO + e—2u) .
y= (eu + e—u)z - (eu + e—u)?
_ 4¢° _ 4
S He)? (e ey

@y=\z+veivz = v=}(z+ x+\/£)“’2[1+;(z+\/;)"1’2(1+gx-1/2)]

22 , 2 d (.22\ _ act 22 9
#y=2%" = y =28 (m2)-d—x(3 ) =25 (023 (1n3)(2a)

- 3z° 3-4
y=vVIi+a3=(1+23)2 = o =1(1428 12,352 = 22 At 2,3),y' =—==2,and tion of
Y ( ) v =3( ) it (2,3), y 75 an equation o

the tangent lineisy — 3 = 2(z — 2), ory = 2z — 1.

2 f@) =29(a") = F(o) =29 ()2 +9(a}) -1 =27 (@) +9(s?) =
f'(z) = 22%9"(2%) 22 + ¢'(27) 4z +¢'(27) 25 = 427" (2?) + dag'(2?) + 204’ (s?) = bzg'(a%) + 42°¢" (a?)




